Look at the following words. No word should have
more than 3 vowels. Which word does not confirm

to this rule?

(1) SCARCITY
(2) PROGNOSIS
(3) COMPLEXITY
(4) CONVULSION

CLOCK is 42145, LEAN is 2068, CARE is 4690,
then NECKLACE is:

(1) 80546240
(2) 6054842

(3) 80452640
(4) 50842604

Which number is on the face opposite to 3?

5 3 2 4
4 6 1 1

(1) 4
3) 1

(2) 2
(4) 5

Snake : Reptile ::
(1) Bat: Mammal

(2) Cow : Calf

(3) Fish: Pond

(4) Soldier : Regiment

Some boys are standing in a queue. If the 10" boy
from behind is 5 positions behind the 12" boy from

the front, how many boys are there in the queue?
(1) 27
2) 17
(3) 26
4) 20

10.

A cricket ball is lighter than a hockey ball. A volley
ball is lighter than a football. A hockey ball is lighter
than a football. Which among these four is the

heaviest?

(1) Cricket ball
(2) Hockey ball
(3) Football

(4) Volley ball

Find the missing number.

3 6 8
4 5 5
10 3 ?
120 | 90 | 240

(1) 4 (2) 6

3) 8 (4) 10
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I[f DINESHKU is written as 82517493 in the coded
language, SHKNUDI will be written as

(1) 7453298 (2) 7495238
(3) 7493582 (4) 7495382

Vineet started walking towards west. Then he turned
to the right. Once again he turned to the right and last
of all, he turned to the left. Towards which direction
is he going now?
(1) North

(3) East

(2) South
(4) West
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Q.no

10




